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The question paper comprises of two Sections, A and B. You are to
attempt both the sections.

All questions are compulsory.
There is no choice in any of the questions.

All questions of Section A and all questions of Section B are to be
attempted separately.

Question numbers 1 to 3 in Section A are one-mark questions. These are to
be answered in one word or in one sentence.

Question numbers 4 to 6 in Section A are two-marks questions. These are
to be answered in about 30 words each.

Question numbers 7 to 18 in Section A are three-marks questions. These
are to be answered in about 50 words each.



(viii) Question numbers 19 to 24 in Section A are five-marks questions. These

(ix)

(x)
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are to be answered in about 70 words each.

Question numbers 25 to 33 in Section B are multiple choice questions
based on practical skills. Each question is a one-mark question. You are
to select one most appropriate response out of the four provided to you.

Question numbers 34 to 36 in Section B are two-marks questions based on
practical skills. These are to be answered in brief.

K IRIIC |
SECTION A

CH5COOH % 37Tcl THSITG 1 W q1 35eh! 3Tvaes ¥ foafen |

Write the name and molecular formula of the next homologue of
CH3COOH.

S <h1 < fafemt ° 9 foreft wfisfisr <ht Sosiifaar & fow <fires s fafy s
T8 ?

Out of the two methods of reproduction, why is the sexual reproduction
method better for the sustenance of a species ?

Sa-frfierfa ot era-frefef sufirsel 1§ gusd FegH § w1 he
ST =R ?

Why should biodegradable and non-biodegradable wastes be discarded in
two separate dust bins ?

gH gt 1 forell off Jepr @ 319 fsft sl o Tofq UTehfaeh w@meql o 39w |
HHt ! =T | FH-R ATH W MYEa T8 =R fhampardi /wr i =
ERIEN

Every one of us should do something to reduce the consumption of

various natural resources for our personal works. List four such
activities/works based on 3-R approach.

G T W IA GUEY ¥ Heg & ATHI hl AT SR TS ohl TG
T |

List two advantages associated with water harvesting at community level
and explain them.
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(i)  BH @Al § 3T qUUT I 99 G GUU o €9 H J0FAT od @ |

(i) T HWC: €, TOdEe ddT T8l o TSIl H 3Taddd eUull skl I9FNT
foran STaT 2 |

Give appropriate reason for the following :

1) Convex mirrors are preferably used as rear view mirrors in
vehicles.

(ii))  Concave mirrors are commonly used in torches, searchlights and
vehicle headlights.

T ARt hl GHSTET Aft F 7 99 7 2 (i) UeshiHl, 99T (ii) UeehTsAl o
= ga fafaw | g9 g wreq wmmupsti % dffe % sEeed @l e % fae
Teh A0l % g TEE hl FEAT G |

What is meant by homologous series of carbon compounds ? Write the
general formula of (i) alkenes, and (ii) alkynes. Draw the structures of
the first member of each series to show the bonding between the two
carbon atoms.

“EreATcHs TuTaIaar’ sl g €T | e hifsre o o 9 Tored
T8l g "ehdl | YA, C,H,, % HHTIad FHTERIE! 3hl HEHTSA] o 3@ ST |

Define “Structural isomerism”. Explain why propane cannot exhibit this
property. Draw the structures of possible isomers of butane, C /H;,,.

= syl oTad ANl o B ad fGU T 7 (37 Tl hl TATY] F&AT HiBH
HATER)
Be (4); F (9); Si (14); K (19); Ca (20)

) w8 ¥ 9% av gAY ek Seed wiw § Th sdegE 8 | 39 aw W
s oh- T fafay |

(i) 1 a H ¥ 99 FHg & @l bl gHT | 0 IW H HRO A
fafau |

(i) 3 T H ¥ U {@Ed o g ad gET | 57 dedl H foheeh 9T
HTHT (HISS) IR 98T 8 ?
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Given below are some elements of the Modern Periodic Table (Atomic
number of elements are given in parentheses) :
Be (4); F (9); Si (14); K (19); Ca (20)

1) Select from these, the element that has one electron in the
outermost shell and write its electronic configuration.

(i1)  Select two elements that belong to the same group. Give reason for
your answer.

(iii) Select two elements that belong to the same period. Which one of
the two has comparatively bigger atomic size ?

MYk 3Tad AR § ofraal i g faRaw | forelt omad # arff @ grRff o1
S T Tl hl TAISThdT a1 difcass [Ugd H g el 9iaad faray | freh
e H IR ¥ fI TH W aw=l hl TSRl a91 I TMHR (F13H) |, Il
HIE IRgdH BT 8, a1 3UHT 3g@ HIT |

Write the number of periods in the Modern Periodic Table. Write the
variation in valency and metallic character of elements as we move from

left to right in a period. State the variation, if any, in the valency and
atomic size of elements as we move down in a group.

3cifieh S 37X Afieh I & oty st foiflaw | owifies S & W
Shiai &t =R fafersearsti it =it =T |

Write the main difference between asexual and sexual mode of
reproduction. List four features of the organisms obtained by asexual
reproduction.

“AfTeh S & 3cqF Sk 3T 3Teh! Hafaal | ORI shl §&1 99 Bl & |7
39 A hI TR HINT |

“The chromosome number of sexually producing parents and their
offsprings is same.” Explain this statement.

AU T 8 ? 7 HIeT H 39k ki <hl SITEdT shifay |

What is placenta ? Explain its function in human females.

“UYor w9 7 foh I &0 ST @ B AW TWeg =k A\ U |7 F T8
YT T B Tohdl @ ? 3T I hl fse ITTETN gt HIfT |

“It is possible that a trait is inherited but may not be expressed.” Can
this statement be true ? Justify your answer with example.

5 P.T.O.
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ITH ISR ! TERIAT ¥ AT T foh F& Teaur wreft fief w1 aemgma
1 & B & | 3T AU BT FAHEA B 7

With the help of suitable examples, explain why certain traits cannot be
passed on to the next generation. What are such traits called ?

13 B [HH GUUT o Ya § HHeH hl SaTell Sl 12 cm <l g T T@H I
s =1 gIo1 € 36 cm g W Ted 9 W waifud et =med @ |

() 39 YU k1 A1 fafge S8 38 IT= =T =R |

(i) &9 9Tt forsr o1 ek maeq wa IR |

(i) 38 R0 H yfafera s91 e & fore fopor om@ Eifew st 389 W
forar 3fit 3ok widfores & st 1 gl siferd hIfTT |

A student wants to project the image of a candle flame on a screen 36 cm
in front of a mirror by keeping the flame at a distance of 12 cm from its
pole.

1) Write the type of the mirror he should use.
(i1))  Find the linear magnification of the image produced.

(iii) Draw a ray diagram to show the image formation in this case and
mark the distance between the object and its image.

i ey qeon foafred qated 1 o1 Tase iU | 3 qfteredrsti & gH &
HRT 6T NG Tt AT HIT |

Explain the meaning of advance sunrise and delayed sunset. Explain
these phenomena with the help of a diagram.

AT T B ? IYHYSA H I hal 3N fohE TR st B 2 Tuse hife foh 77
geeft W Sfie 1 fohe TehR wTfad Lt 7 |

What is ozone ? Where and how is it formed in the atmosphere ? Explain
how does it affect the life on the Earth.

15 forel 18 cm BIhH gl o IEde GO % HHA 9 cm g0 W e & | &4
aret widfers 6 g aftssferd HifSe | 38 weptor | fdfears s==1 g9l w6 fog
amifera fertor sm@ Eife |

An object is placed at a distance of 9 cm in front of a concave mirror of

focal length 18 cm. Calculate the distance of the image formed. Draw a
labelled ray diagram to show the formation of image in this case.




20. hiS B TRl TH hT ITANT SHich HIHS! shl SATT o Afdfars shl TANTMAT hl
AR T g&fUd =T =Edr B | 5

(i) 39 TorH Tl 1 T8 STINT HET =MLY TR AT ?

(i) A <" I BHE g H IRATT 10 cm 7, A1 34 ST hl @ & Tohal
gt W T =1y o SR W sare @ (a) foafia gidfers; (b) Bie
gfcfers a9 |

(i)  AfE 98 SIATAT I @H ¥ 5 cm g W @Al 7, A FT G ? 3794 IR 6l
gfse Arifera foror @ wiaet HIf |

A student wants to project the image of a candle flame on the walls of the
laboratory by using a lens.

(1) What should be the nature of lens and why ?

(i1))  If the magnitude of focal length of the lens is 10 cm, at what
distance should he place the flame so as to get a (a) magnified
image; (b) diminished image on the wall ?

(iii) What will happen if he places the flame at a distance of 5 cm from
the lens ? Draw a labelled ray diagram to justify your answer.

21. HH9 93 & fF=fafga § @ v@s wym w1 & wE 9899 § fafge 5
(i) R
(i) gl
(i) TooRHSA (HifaT)
(iv) agmTHt ufsmt

AR < o @l 5=, fSeht 3y 12 a9 & 1 8, il oigar @ fifed § |
== Bl d9eH gRT UTSd hit=dT o JIIU § ik fohaT ST Gkl & | BH 1
3R fopE YR Tfed gk THN < Heedl ol Jog & 9vdard. A9eH % g
TIcATRd AT TR ? 30 G2 o 9 H OIS § M 3cqd heAT Fl STa9Ih
2?7
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State in brief one function of each of the following parts of the human eye :
(1) Iris

(i1)  Pupil

(iii) Cornea

(iv)  Ciliary muscles

Lakhs of children of our country below the age of 12 years are suffering
from corneal blindness. This defect of children can be cured by replacing
the defective cornea with the cornea of a donated eye. How and why
should we organise in groups to motivate the community members to
donate their eyes after death ? Why is it essential to create awareness in
the society about this fact ?

AT AT T ATt qT AU FTRIAH HIST B TAFA I hich AT IThT

BTE ek Icohte 19 fo=rmd wTed ot 91d 8 | SR od g SRS I foh e
e qifirent 1 Fmior @ 0 g\ fafy w1 v w98 o gar | e
ANfirept & 00T T 999 9T 3TMe-Y 3T e & AT o FHo § §99 a1
A & Yh & W fafgu | wror @fgag a8 ot 3g@ Fifse 6 weT &
Afirer armT=ra: fogd % Ferers = gd 2 |

Elements forming ionic compounds attain noble gas configuration by

either gaining or losing electrons from their outermost shells. Give reason
to explain why carbon cannot form its compound in this manner. Name
the type of bonds formed in ionic compounds and in the compounds
formed by carbon. Also give reason to state why carbon compounds are
generally poor conductors of electricity.

Uit qen IWaferft Isdi § Jcieh T Ush-Ush 30T SINTT | WAToT ST 7 2
39 YHRI hl T S15T 37 $Hh HEd I 3gQ@ it | foreft goa 7 fam=m
% YT g ATl TN T 3@ hiT |

Give one example each of a unisexual and a bisexual flower. What is

pollination ? List its types and state its significance. Mention the changes
a flower undergoes after fertilisation.



24, SaTeH F1 8§ ? ¥ TRE YR S & ? SUYH ICIEUI ohl TERIAT § Sid-foeh™
ASA T SAwHl o g $1 3gE i | 5

What are fossils ? How are they formed ? State the importance of fossils
in the study of evolution, with the help of suitable examples.

R IRINC )
SECTION B

25. I3 B MYaH vl & fafie a1 & fou Berivfir wf = & fsw @ g e
aTeAl TRty fortor 1 U 3mfigd Tt 8 | fortor @t o fovemer i W
famtafiaa 4 @ wa-an fased w3 g 2 1

(A)  Tia fertor smafer fertor < wT= el 2 |

B) frla foror smufaa oo & wrrareq 2t 2 |

(C) fta fentor e € srafaa fertor <t fesm & foreh wior W g ST @ |
(D) Tria v s9add o & s B @ |

A student traces the path of a ray of light through a triangular glass
prism for different values of angle of incidence. On analysing the ray
diagrams, which one of the following conclusions would be correct ?

(A) Emergent ray is parallel to the incident ray.

(B) Emergent ray is perpendicular to the incident ray.

(C)  Emergent ray always bends at an angle to the direction of incident
ray.
(D)  The angle of emergence is equal to the angle of refraction.

26. I3 B Hid hl AAHR g & Feopt oA el Forell Teprer foptor o1 uy
AYqH i & i 9l o fou emfed s=ar 8 | 98 T &l ST
g & 1Y ek G I i HYar 8 | 39 W & favewer @ 39
frafafea & & oF-a1 fsed fFeprer =nfge 2 1
A Zi=ZLe< Zr
B) Zi=Ze> Zr
C) Zi>ZLe>ZSr
D) ZLe>ZLi>ZLr
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A student traces the path of a ray of light through a rectangular glass
slab for the different values of angle of incidence. He performs the
experiment very carefully and measures different angles. On analysing
the measurements, which one of the following conclusions should

he draw ?

(A) Zi=ZLe< Zr

B) Zi=Le> Lr

C) ZLi>ZLe>Sr

D) ZLe>sLi>ZLr
forelt B 4 Tomr (3 feRet o) o o1 1 JaTur e 3ok A= fU MU AR
HIT ‘Eﬁﬁ :

I o

II. Hd:hdd

1. JAE

IV. Wi

HEl TEwH T AT E

(A) L II9III

(B) ILIOI9IV

(C) LIIIdIv

(D) LIIaIlVv

A student observed an embryo of a red kidney bean and identified its four
parts as

I Cotyledon

II. Tegmen

III. Radicle

IV.  Plumule

The correctly identified parts are
(A) I,II and III

(B) II, III and IV

(C) L IIlandIV

(D) LII and IV
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Teh A o A9 & T8 dfesat @liE 1
3T, THTE, Hefl, 3Teteh, TSR, ehiehal 3 Fermef
T gleordl § FHSITd GEA13T sl (H&itd s arelt & dfesrat - 8 ?

(A)
(B)
(&)
(D)

3Te] TR ITehiehal
Teht 37 TSR
3Te] R THTX

3T I Iheha]

A person has purchased the following vegetables :

Potato, Tomato, Radish, Ginger, Carrot, Sweet potato and Cauliflower

Which two of these vegetables represent the homologous structures ?

(A)
(B)
(&)
(D)

Potato and Sweet potato
Radish and Carrot
Potato and Tomato

Ginger and Sweet potato

forelt B 4 el foF o qIT AR 9¢ S W FF 1 Jidfers I i o g
Ik X 1 ITA a1 | IRk X fowa # T8t ed T | 1

A)
B)
©)
D)

Trr7rrrrrrrrrrrrrrrrrrrrrTry

gtk X, 12 cm HIhH Gl I IqA S0 7 |
Ifth X, 12 cm BIHH gt 1 3T 99 7 |
Q'R'E‘X’,Hcmqﬁﬂ?{?@aﬂwmél
ﬂﬁﬁ‘X’,HcmW@WWﬁ'ﬁ%l

11 P.T.O.



A student used a device X’ to obtain the image of the Sun on a screen ‘S’

as shown in the diagram. Select the correct statement about the device
X

T7T7r77 7777777777 777777777777

(A)  Device X’ is a convex mirror of focal length 12 cm.
(B) Device X’ is a convex lens of focal length 12 cm.
(C)  Device X’ is a concave mirror of focal length 12 cm.

(D) device X’ is a concave lens of focal length 12 cm.

30. et v 3 9@ <\ grn forelt Tmehiat fora &1 srcafyes Bt ufdfors 98 @
T R frm 2 | 9 Sl BiehE gl a0 A o TIT 38 T /IO =T 2
(A) < ¥ 9 H gl
(B) | ¥ fors i gl
(C) foma @ yidfsrs <1 gt
(D) <" i #ers 3R fora & ug 6t gt

A student has obtained the image of a bright object on a screen using a
convex lens. In order to determine the focal length of the lens he shoud
measure the

(A) distance of the screen from the lens

(B) distance of the object from the lens

(C)  distance of the image from the object

(D)  thickness of the lens and the distance of the object from the screen

531/2 12
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T S <hl TfshaT § I g1 ITeTl IUTCITE B 1

(A)
(B)
(&)
(D)

During the process of soap formation the by-product formed is :

(A)
(B)
(®)
(D)

Glycol
Glycerol
Glucose

Glycogen

TR TR o1 STeE wd Ty Afe s stfufsran fasor w1 a o
3R Ty & il /A fofen® o=l g 3§ fasen i whia o S W, a1 SEn
e W @ fswy feperm 2 1

(A)
(B)
()
(D)

arffsran Semardt & R sAfvfshen fsor el 2
arfarforan Semardt 8 ot eAfufsran fosor enefis 3
rffsran SsATeet 7 3R Stfvrfshan s srefiw 2
srfirforan FeaTene 7 oM afufsran frsor et 2

While studying saponification reaction, if you measure the temperature
of the reaction mixture and also determine its nature using blue/red
litmus paper, then on the basis of observations the conclusion drawn

would be

(A)  The reaction is exothermic and the reaction mixture is basic
(B)  The reaction is exothermic and the reaction mixture is acidic
(C)  The reaction is endothermic and the reaction mixture is acidic
(D)  The reaction is endothermic and the reaction mixture is basic

13 P.T.O.
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IR gt L I 11 3T IV 8 9 Jigdr o [aiie o & Sy foeaq )
2 | WEaell [ § Hifeam #Ass, [ § Sfcoem ooiiss, [ § Aeifem
FANSE AT IV | dIRrm FarEe & faasd W 2 | A 319 I waH el §
opelt TTgH o T o I S SISR AT THATeRt TEHelt i amft i fgamd,
Ta Tohe TREHT™l § T o T The (TR ggrel) S 2

A I91II
(B) II9III
(C) HIaIV
(D) I9I1v

Aqueous solutions of four different salts of the same concentration are
filled in four test tubes I, II, III and IV. In the test tube I solution of
sodium chloride, in II solution of calcium chloride, in III solution of
magnesium chloride and in IV solution of potassium chloride is filled. If
you add equal amounts of a sample of soap solution to each test tube and
shake the contents, in which test tubes will scum (insoluble substance) be
formed with soap ?

(A) TandII
(B) IIandIII
(C) IIlandIV
(D) TandIV

Ife o forel WEAe! # 2 mL UHIReH oA TRt IEH TH geehl difedn
gISEISH HIEMC BTei, Al 3T qad &l o= Y& il ? 36 Afafhan o fepe
Jreit 19 1 A 3R 39 wlare i fafy fafem |

If you take 2 mL of acetic acid in a test tube and add a pinch of sodium

hydrogen carbonate to it, what would you observe immediately ? Name
the gas evolved in the reaction and write a method to test it.
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H1s 2:0 cm T for 10 cm wiHE g8 * fopel 3@ oW % e 1w %
e T @ | fore ol 8 A g 15 cm 3 | TRt o 3T EiereRt Nidfers
1 Thid IR feufa sma Hie | wlafers S awamg Wi Ao fafag |

A 2-:0 cm tall object is placed perpendicular to the principal axis of a
convex lens of focal length 10 cm. The distance of the object from the lens
is 15 cm. Draw a ray diagram to find the nature and position of the image
formed. Also measure and write the length of the image.

fiee § gepe o fafire =won st gere o fofe amifera e Eifeu |
Draw a labelled diagram to show the different stages of budding in yeast.
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